Answer on the question #63883, Chemistry / General Chemistry

Question:

Convert (a) 8.6 X 10-3 kg to g (b) 0.00041 pum to nm (c) 2.49 X 10-5 s to ms (d) 856 X 102 nm
to cm.

Answer:

(a) 8.6 103 kg to g:

As one kg is 1000 g:

8.6-1073(kg) - 1000 (%) =86y

(b) 0.00041 um to nm:

As one um is 10°°m and 1nmis 10°m, then:

m nm
0.00041 pm - 10-6 (—) £ 10° (—) = 0.41nm
um m

(c) 2.49 10° stoms

As 1s is 103 ms:

ms
2.49-1075(s) - 10° (T) = 2.49-10"2ms

(d) 856 10°nm to cm

As 1nm is 10° m and 1cm is 102m:

m cm
856 - 102 (nm) - 102 (ﬁ) .102 (?) = 85610 5cm, or 8.56 - 10~3¢cm
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